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1) if a+ﬂ+y:0:>sina+sinﬂ+sin7:—4sin%.s
2) if a+ﬂ+7/:%:tanatanﬂ+tan/3tany+tana.tany:1
3) if a+f+y=n=tana+tanB+tany =tana-tanS-tany

4) if a+,8+;/:(2k+1)%:>tana.tanﬂ+tanytanﬂ+tany'tana=1

5) if a+p+y=(2k +1)%:> cot ga + cot g + cot gy = cot gar.cot g 5.cot gy

6) if a+p+y=kr=tana+tanf+tany =tana-tanB-tany
7) if a+f+y=kr=cotga-cotgp+cotgpf-cotgy+cotgy-cotga=1

tana +tan f+tana.tan f =1

a+ﬂ—£ =
4 7 |(1+tana)(l+tan B) =2

P (1—tana) (1-tan ) = 2

R {tan a+tanf—tana.tan g = -1

9) if a+ﬂ+;f:(2k+1)%:>tan2a+tan2ﬂ+tan2;/21

10) if a+p+y=kzr=cotg’a+cotg®’s+cotg’y =1
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11) sin2A+sin2B+sin2C =4sin AsinB.sinC

12) cos2A+cos2B+cos2C =—-4cos AcosBcosC -1

13) sinA+sinB+sinC = 4cos§.cos%cos%

14) tan55 —tan10 —tan55tan10 =1

15) tan100°tan130° +tan130°tan40° +tan100°tan40° =1

16) tan15cot g65+tan25cot g40 +tan50cot g75=1

17) (1+tan10")(1+tan35")=2

. cwl ,ai> tana.tan2a.tan3a e usL tana+tan2a=tan3a 31 (18 Jle



